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Time : 3 Hours Max. Marks : 70

Instructions : 1) Answer all three Parts.
2) Part — A : Answer to each question not exceeding

Y2 page.
3) Part — B : Answer to each question not exceeding
4 pages.
4) Part — C : Answer to each question not exceeding
6 pages.
PART - A
WONn - &
1. Define/Answer any ten of the following. (10x2 = 20)

B3 TINTRNYY | CSRR)TPTTR BB BINEN LVTOR.
a) Define the term “firm’.
SVTIE 0L BOFOZODT, T,ATR.
b) Define Sellers’ concentration.
BRTIBRT Fe0Q, ¢BTERBI) 29,80, R.
c) Invention.
ST,
d) Economics of scale.

SHFE THOD. P.T.0.
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e) Product differentiation.
501 V) %@c%é

f) Merger.
WOTIONIT)TIO.

g) Productivity.
NBITTE,

h) Institutional Finance.
mo?g TEITIRD.

i) Aquisition.
md@es.

j) Cost-Benefit analysis.
S3- oyl DBERE.

k) Exit Policy.
ANFTT es.
l) Labour market reforms.
BT ROCIT ROGFOTHBNSO.
PART - B
Won-W
Answer any five of the following. (5%6 = 30)

83 FPNTRINPE 03)TTITH 5% SUZOR.

2. Explain the objectives of the firm in the modern industrial economy.
STOVE 0T @@F%éodae”)mmcgmd TR0 emczeén’%ﬁmq QTORD.

3. Explain the recent trends in the growth of the firms in Indian Industrial sector.
YPTBE FTROF SOODTE YOTTONG WResriodd aenss o—’jdﬁodoabo{ NWOR0.

4. Explain the role of State Financial Corporation (SFCs) in industrial development
in India.

EPTBRY MOFIREF DO Toty TEFTHRD AN mgﬁgbq QWO



AN O A -3- ECS 405 (B)

5. Explain the role of Small Industries Development Corporation (SIDC) in
development of small industries in India.

LTI B9 FMOOFNY 92073 QN 3D FMOOBNT 22053 Q) ANWITI T332 0O
™ Y 9 Q@ £ 0 O > 2
6. Explain the significance of Cost-Benefit Analysis.
8- 093 QBEREOD T30 oI DO
7. Explain the role of Net Present Value (NPV) in project appraisal.
TOO3REE 0T T 03000 VeI ¢ FFNF WP, AT mgddgﬂ DTO.
8. Explain the structure of industrial labour in India.
ARl CImI] EHanleLp) =0T #odaﬁéoﬁad& NWOR.

9. Explain the problems of industrial labour in India.
ARleCInI] EAaBIeED) TN BT DTORGTH ﬁmﬁg’sﬁ%fa’% QWO

PART - C
Won - A
Answer any two of the following. (2x10=20)
83 NIRRT 03RYTITT R 23 SUZOR.
10. Briefly explain the current status of employment in India industrial sector.

LPTB3 EHaBIeED) BOONY, TR emdr%eﬁd %gs%r{éojasgi BROOBTON V@O

11. Explain the need of Social Security for Industrial workers.

EHaDIeED TODFFON ROWINLIE LPEZOD @ﬁ%éojaag QWO

12. Briefly explain the problems of Industrial Sector.
3 M0TD SO0 HTO0RIGTIT #doz”gr{@a’% BROOBITON DO

13. Briefly explain the labour market-reformation related to Industrial workers in
India.

TBEE 00T FoRFFON FOWORATOE FoWFE m&%@iodo :’o@d%mf@ QO




